Three decimal places

0 Use place value counters to make the numbers.

Draw your answers.
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Q Complete the sentences.
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There are 3 ones.
There are| ) |tenths.
There are | Ly |hundredths.

There are| % |thousandths.

The number in digits is

3-ayd

Werite the value of the 3 in each number.

a) 3.65 3 ones

b) 0.003 3 bthousandths

g 1831 & tentns

d) 72439 3 hundredtian

e) 32.701 .4 bens

n 1903 3 hundredthn
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° Complete the part-whole models.

a)

b)

0.004

o Complete the number sentences.

a) 17.134=10+7 + 0.1 + 607

b) 94.077=90+4+0.07+4 0 -007

9| 34.079

=30 +4 + 0.07 + 0.009

e Complete the number sentences.

1456 =1+ 04 +

1456 =1+ 0.3 +

1456 =1 + 0.2 +

1456 =1 +

0-05 |[+0.006

O-\S + 0.006

095 |+0.006

0-us

+ 0.006

+ 0.004

)

o Mo and Annie have represented 0.121 on their place value charts. O)

Mo’s chart

Annie’s chart
! Hth | Thth

Only my grid
shows 0.121

Who do you agree with? Annie

Explain why.

Annve  could exchange \O \vundreddhs gor

ong  tendn  bhon bBaou c\l)rcdb would be

the sameo.
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